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SA - BB ORI(E]) - HRAY - B Ofl kot = Hnz2
S ALRH A4 0 6,949,209 6,715,244 233,965
= 3,167,000 3,167,000 0
< 501,000 501,000 0
Al 3,281,209 3,047,244 233,965
SANM(2ELXISEINL/RISLEZAl) 6,782,623 6,548,658 233,965
= 3,167,000 3,167,000 0
== 501,000 501,000 0
Al 3,114,623 2,880,658 233,965
SAITHAE AM 5,860,678 5,626,713 233,965
= 3,167,000 3,167,000 0
< 501,000 501,000 0
Al 2,192,678 1,958,713 233,965
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Al 278,389 150,000 128,389
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128,389,000 * 1Al 128,389 0 128,389
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() FUXLME(ZAN (MESMEDS) 1,000,000 1,000,000 0
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< 9,400 0 9,400
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90,000,000 * 1A 90,000 0 90,000
< 24,180 0 24,180
Al 65,820 0 65,820
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< 0 91,000 291,000
Al 11,070 13,897 A2,827
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402 CIZHRHE0|A 558,600 85,500 473,100
= 391,020 0 391,020
== 57,420 0 57,420
Al 110, 160 85,500 24,660
02 QIZFXI=AIS 558,600 85,500 473,100
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< 57,420 0 57,420
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